

$$b = \frac{\log_n^n n}{\log_{mn} n} = \frac{\log_n^n n + \log_n^n n + \log_n^n n}{\log_n^n n + \log_n^n n} = \frac{x a + 1}{a + 1} = 1 + \frac{a - x a}{a + 1} \Rightarrow b = 1$$

(۲) الف) یایی تعیین شکل لگاریتم را رسم کنیم $\Rightarrow D_f = (0, 1)$
 ① $\frac{x}{\log x} \geq 0 \rightarrow \frac{0}{\frac{1}{x}} + \frac{1}{\frac{1}{x}} -$
 $\frac{1}{x} \rightarrow -\log x$

۱- $x^2 - 1 \geq 0 \rightarrow x^2 \geq 1$ $x^2 - x - 2 > 0 \xrightarrow{+ \frac{-1}{2} \pm \frac{\sqrt{1+8}}{2}} x < -1$ یا $x > 2$ / $\sqrt{x^2 - 1} + 1 \neq 0 \rightarrow \sqrt{x^2 - 1} \neq -1$
 $x \geq 1$ یا $x \leq -1$ $(x-2)(x+1)$ $\Rightarrow D_f = (-\infty, -1) \cup (2, +\infty)$

$$\begin{aligned} r y_1^a + y_a^r &= \cancel{y_r^a} + \cancel{y_a^r} = r \Rightarrow \boxed{a=r} \quad / \quad \log_r^a + \frac{1}{\log_r^a} = \frac{(\log_r^a)^r + 1}{\log_r^a} = \frac{t^r + 1}{t} = r \Rightarrow \boxed{t=1} \quad (2) \\ &\Rightarrow \log_r^a = 1 \Rightarrow \boxed{a=r} \end{aligned}$$

$$\frac{\sqrt{\Delta}}{|a|} = \frac{(\log^1)^r + r \log^{\frac{1}{r}} \log^1 \Delta}{|\log^{\frac{1}{r}}|} = \frac{(r \log^r)^r + r (\log^1 - \log^r - \log^r) / (\log^1 - \log^r + \log^r)}{\log^1 - \log^r - \log^r} = \frac{(\cdot, \cdot)^r + r(\cdot, \cdot)(1, 1)}{\cdot, \cdot} = \frac{\sqrt{1,95}}{\cdot, \cdot + 1, \cdot} \cdot \frac{1, \cdot}{\cdot} = \frac{1, \cdot}{\cdot} = \frac{1, \cdot}{\cdot}$$

$$\log_{1/r} = \frac{\log_r}{\log_r 1/r} = \frac{\log_r^\Delta + \log_r^\gamma}{\log_r^\gamma + \log_r^\beta} = \frac{\gamma + 1}{\gamma + 1} = \frac{\gamma}{\gamma + 1} = \frac{10}{19} \quad \log_r^\Delta = \frac{1}{\frac{1}{r}} = r \quad (\Delta)$$

$$\log_{18}^r = \frac{\log_{18}^r + \log_{18}^r}{\log_{18}^r + \log_{18}^r} = \frac{1 + \frac{1}{18}}{1 + 1} = \frac{\frac{19}{18}}{2} = \frac{19}{36} = \left(\frac{19}{36}\right)$$

$$m = \log_{\frac{1}{k}}^n + \log_{\frac{1}{k}}^k = \log_{\frac{1}{k}}^{k^{\frac{n}{k}}} \xrightarrow{\lambda = \frac{n}{k}} = \frac{k}{\frac{n}{k}} \log_{\frac{1}{k}}^k = \frac{k}{\frac{n}{k}} \log_{\frac{1}{k}}^k = m+1 \Rightarrow \log_{\frac{1}{k}}^k = \frac{(m+1)k}{n}$$

اگر بخواهیم عدد بدیم حدی می شود (۱،۸)

$$\left(\frac{r}{\Delta}\right)^{rx-1} = \left(\frac{\Delta^r}{r^r}\right)^{x^r} = \left(\frac{r}{\Delta}\right)^{-rx^r} \Rightarrow -rx^r = rx-1 \Rightarrow rx^r + rx-1 = 0 \rightarrow \frac{-r \pm \sqrt{r^2 + 4r}}{2} \rightarrow \begin{cases} x = \frac{1}{2} \\ x = \frac{1}{2} \pm \sqrt{\frac{1}{4} + \frac{1}{r}} \end{cases}$$

$$\rightarrow rx+1 > 0 \rightarrow \boxed{x > -\frac{1}{r}} \Rightarrow \log_{\frac{1}{r}}(rx+1) = \frac{1}{r}(\log_r(rx+1)) = \left(\frac{r}{2}\right)$$

$$(a+1)^{\frac{r}{w}} = (\log_r^w + \log_r^z)^{\frac{r}{w}} = \frac{r}{w} \log_r^z = \log_{\frac{w}{r}}^z \Rightarrow b = wz \Rightarrow \log^{(1.1-1)} = \log^{1.1} = (2) \quad (9)$$

$$a = \frac{b+c}{r} \rightarrow \boxed{ra = b+c} \quad / \quad \frac{1}{s} = \frac{1}{\frac{-b}{-ra}} = \frac{ra}{b} = \log^r \Rightarrow \log^r = \frac{ra}{b} \Rightarrow a = b \log^r \quad (1.)$$

$$\hookrightarrow c = ra - b = r b \log^r - b = b(\log^r - 1) = b(\log^r - \log^1) = b \log^{\Delta-1} = c$$

$$r^{\frac{1}{\Delta}} \times \frac{c}{a} = r^{\frac{1}{\Delta}} \left(\frac{b \log^{\Delta-1}}{b \log^r} \right)$$

$$= r^{\frac{1}{\Delta}} \log^{\Delta-1}_r r^{\frac{1}{\Delta}} = r^{\frac{1}{\Delta}} \log_r^{\Delta} = r^{\log_r^{\Delta}} = \left(\Delta^{\frac{1}{\Delta}} \right)$$